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Y= X+4.1 : paladlsla¥l dolas 03]

Y =355 oy=N=35-171
n 5 15
2x= 1+2+3+4+5 & X = In - 3
- no5 71-41
b=y-axe41=71-3aca= —=1
x| Vi Y=logy, xY x*
1| 60 1.77 1.77 1
2| 140 2.14 4.28 4
3| 210 2.32 6.96 9
4| s40 2.73 10.92 16
5| 900 2.95 14.75 25
6 | 2080 3.31 19.86 36
7 | 4200 3.62 25.34 49
8 | 8200 3.91 31.28 64
1 — 23.75 |  115.16 204
— Xj = Y;j
7=Z-45  V=21=284
Y-nxX Y v -
A= -03 B=Y-a7=149
X“=nx

Y=Ax+BeoY=03x+1.49

log(a) = A & a=10"=10" = 2

log(b) = B b = 10° =10 = 30.90
y=a*.boy=2%30.90

x ohlb Y
9 15821
10 31642
11 63283
12 126566
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